Name:

November 04, 2020

Sr: 04112020-1792

MATHS WORKSHEET [ Shrs @

GEMERATOR

GCSES

1) 3763.1 - 5568.1 2) 3) Find perimeter of
Find Volume of triangle
Square Pyramid b b a=2065in,b=
7461in
a
Answer: Answer: Answer:
4 b 5) 6) Find perimeter of
sguare having each side
s (s) equals 2308 cm
a o] c 'Name the type of angle.
Measure angle boc s
Answer: Answer: Answer:
7) 38Y,x 10°; 8) 38Y,x 10%, 9) Find the percentage change from 163
to 489
Answer: Answer: Answer:
10) Convert the following improper 11) 529x 71 12) 16/, - 32,4
fraction 3410/, 5 + 2315/ - into a
mixed number
Answer: Answer: Answer:
13) 4176 + 58 14) 18% of 17 15) 1365 + 4728
Answer: Answer: Answer:
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11:33. The smaller share was 57.
What was the larger amount?

Answer:

fraction 1813, , + 59 into amixed
number

Answer:

16) Round 16.7696806610 to 9 decimal 17) 18)  Findthemean of thefollowing set of datax
places. 26,04,0.1,03,19,590.1,1
A =53 B
Find the Angle at side B.
Answer: Answer: Answer:
19) Find the median of the following set of data: 20) 21) 8564.2 + 8869
21, 28,20, 6, 34,9, 4, 14, 25, 7, 26, 35_4»
30, 6,12, 22, 3,17, 8, 2,17
Volume of Cone
35
Answer: Answer: Answer:
22) 151135+181 23) 151135+181 24) 2+ g
Answer: Answer: Answer:
25) (-1825) - 5312 26) 11/19 - 5/2 27) Find the mode of the following set of data:
71,71,71, 71,71, 71, 140, 140,
140, 140, 140, 140, 6, 6, 6, 6, 137,
137,137, 137, 137
Answer: Answer: Answer:
28) A number was shared in the ratio 29) Convert the following improper 30) Convert the following improper

fraction 1813/, , + 59 into amixed
number

Answer:
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31) Find the range of the following set of data: 32) (_ 4474) + (-3063) 33) Find area of
0.9,4,-09, 17 b rectangle having
sidesa= 5782 ft
a and b = 2395 ft
Answer: Answer: Answer:
34) 223, x 401/, 35) Convert the following fractioninto a 36) Round 20.005651847619 to 9
mixed number: 4%/, decimal places.
Answer: Answer: Answer:
37) 7735+ 85 38) Find area of square 39) Find area of triangle
having each side (s) a p h=8507m, a=
s equals 5877 in 9191 m,
c b=9335m,c=
s 9903 m
Answer: Answer: Answer:
40) 04:03 am To 10:27 am 41) Share 100 in the ratio 68:32 42)  Find the percentage change from 100
to 205
Answer: Answer: Answer:
43) Find perimeter of 44)  Convert the following fraction into a 45) Convert the following fraction into a
triangle mixed number: 30/, mixed number: 30/,
b b a=2990in,b=
6913in
a
Answer: Answer: Answer:
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46) Find the median of the following set of data:
22,12, 36, 2,32,17,4, 12,37, 9,
32,6,8,37,3,11, 31, 22, 30, 18

Answer:

47) Find the mode of the following set of data:
188, 188, 188, 188, 188, 198, 198,
173,173, 173, 173, 173, 115, 115,
115, 156, 156, 156, 98, 98, 98

Answer:

SATS
GCSES

48) Round 22.74541636 to the nearest

100

Answer:

49) 27X (-67)

Answer:

50) 9851 - 9707

Answer:

51) A number was shared in the ratio
2:94. The smaller share was 58.
What was the larger amount?

Answer:

52) Find the median of the following set of data:
8, 2, 23, 19, 26, 34, 28, 32, 24, 26,
26, 38, 10, 31, 4,17, 9, 36, 6, 34

53) Find the median of the following set of data:

8, 2,23, 19, 26, 34, 28, 32, 24, 26,
26, 38, 10, 31, 4, 17,9, 36, 6, 34

54)  Decrease 192 by %gg

Answer: Answer: Answer:
55) £ 56) 31 x 100 57) 51 x 1000
35 Find Volume of
_ 34 | Cylinder
—
Answer: Answer:

Answer:

58)  26020.8+ 278

Answer:

59) Convert the following mixed number
3516/ into an improper fraction.

Answer:

60) Round 15.0865893 to 3 significant
figures.

Answer:
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61) Find the median of the following set of data:

11,19, 4, 37,31, 21, 29, 33, 5, 27,
20, 3, 19, 33, 26, 39, 6, 13, 23, 35

Answer:

62) Find perimeter of
sguare having each
s side () equals 8960 m

Answer:

63) Simplify 79:11

Answer:

64) Convert the following improper
fraction 3918/, 4 + 3% into a mixed
number

Answer:

65 945+ (-45)

Answer:

66) Round 0.974 to 1 significant figures.

Answer:

67) Round 0.974 to 1 significant figures.

Answer:

68) 86 x 1000

Answer:

69) 86 x 1000

Answer:

70) Round 18.99727520723610 to 2
decimal places.

Find VVolume of
Triangular Pyramid

72) 21 Yg-1 2

Answer: Answer: Answer:
73) Increase 250 by 3/125 74) Find the median of the following set of data: 75)
13, 25, 5, 12, 4, 23, 11, 11, 26, 19, Find the next three numbersin
28, 22,40, 24, 11, 20, 11, 20, 34, 25 the sequence
0112358 , ,
Answer: Answer: Answer:
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76)  Simplify 95:9 77) 2,16, 78) 3, +3Y

Answer: Answer: Answer:
79) Find area of 80 b 81) Y5, of 160

b rectangle having
sidesa=9979 ft
a and b = 9967 ft a o] c
Measure angle boc

Answer: Answer: Answer:

82)  4368+91 83) Find perimeter of 84) (20-16)x 2- 19
rectangle having
sidesa=8442m
a and b =8353 m

Answer: Answer: Answer:
85) 4989 + (-3475) 86) 39000 + 1000 87) Increase 158 by 3/79

Answer: Answer: Answer:
88) 'What isthe probability of rolling a 89) . 90) 9020 - 7309

even prime number.when rolling a Find the next three numbersin
dice the sequence
16,17,68,69,276,277,1108__, ,
Answer: Answer: Answer:
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91) (-6246) + 3827 92) Find perimeter of 93) Convert thefollowing fractioninto a
square having each mixed number: 53/
s side () equals 1671 in
s
Answer: Answer: Answer:
94) Find area of square 95) 96) 50798.4+912
having each side (s) Find Volume of
s equals 4970 cm Cylinder
s
Answer: Answer: Answer:

97) 50798.4 + 912

Answer:

98) Find the percentage change from 283
to 424.5

Answer:

99) 920+ 10

Answer:

100) 4,5 0f 135

Answer:

Total: /100
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1) -1805
8) 398°%/.,

15) 6093

22)835

29) 2429

36) 20.005651848
43) 16816in

50) 144

57) 51000

64) 437 o

71) 8190

78) 34Y

85) 1514

92) 6684in

99) 92

Copyright 2020 - Geek School Tutoring Limited

2) 15516.666666667
9) 200%
16) 16.769680661
23) 835
29
30) 24295,
37)91
1
a8 7Y,
51) 2726
58) 93.6
65) -21
2
72) 207
79) 99460693t
86) 39
26
93) 129,
100) 12

3) 16987in
10) 58144/,
17) 127

24) 115
31)17.9

38) 34539129in
45) 74,

52) 26

59) 261/,

66) 1

73) 256

80) 35

87) 164

94) 24700900cm

MATHS WORKSHEET B’

Answers:

4) 69
11) 3755.9

18) 13.24

25) -7137

32) -7537

39) 39706422.5m

46) 205

53) 26

60) 15.1

67) 1

74) 235

81)5

88) g

95) 31646.048197773

SEMERAT R

5) Straight

12) 137/15

19) 165

26) 2y

33) 13847890ft

40) 06 Hours 24 Mins
47) 188

54) 182

61) 235

68) 86000

75) 13,21,34,

82) 48

89) 1109,4436,4437,
96) 55.7

Sr: 04112020-1792

6) 9232cm

13) 72

20) 44898.595007554
2771

34) 897/
41)1:99

48) 22.75

55) 31777.209691061
62) 35840m

69) 86000

76) 95: 9

83) 33590m

90) 1711

97) 55.7

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7) 398°%,
14) 3.06
21) 17433.2
29) 171
35)5

42) 105%
49)

56) 3100
63) 79: 11
70) 19

77) g,
84)

91) -2419
98) 50%

http://www.geekschool.co.uk



http://www.geekschool.co.uk

